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a. Explain the VAX ArchitpefUie. (08 Marks)

b. Generate the object code for the following program using the following OPCODES.
CLEAR: 84, LD*S:,rc; ADD: 18, J:3C.
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c,Explainthevariousdatastructureusedintheassemblers.

;":;;.. Mgd@,2'=, . ,,1"

a. What is program Relocation? Explain h#kJtfresolve the rg.lobation problem with an block
diagram and exarnple. i

b. Explain MASMassembler in detail.
c. Explain followin! Assembler Dir&tfte3 with example : '"
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a. ..'Elplain Control Sectioil. Hbw are these haii ed by the assembler? (06 Marks)

6.'r $Irite an algorithm;$,r;bne pass assembl0fl (10 Marks)

Cir','11tr11ru, do you me.ritilby.delayed branches..in SPARC assembler? Explain with example.
(04 Marks)

.,,.,*,,, 

.*' 
,,,rj,',iru",

a. Explain a si'hible bootstrap.loader with a source program. (10 Marks)

b. Explain how the program.li*king is performed by the loader with a block diagram.
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6a.

b.
c.

Explain dynaqiol,linking with neat diagrams.
Explain linkiri$,tqb4sr and linkage editor with neat diagrams.
Write a note on'MSDOS Linker.
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Notez Answer FIVEfutt questions, choosifo'pNEfull questionYronriiien module,

ModuIe-l
1 a. Explain the architecture of SlC/XQfinachine. -"'.,..."' (12 Marks)

b. Write the algorithm of Pass - I of two - pass Assembl.t 
l:., . (08 Marks)
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7 a. Write an algorithm for one - pass macro 6oegd6 \' (10 Marks)

b. Explain to* tfr. AnOteg i, uff."t.A iirffiinliu" *u"'o expansion"ffiff'proper ".,ll'flli;*U
b{

ew o *

,'&,' oR q--+'. ..
Explain the different data stru$*Fei Used by macro procesqi, tn block diagram' (08 Marks)

Bxptain the following with ffiiles' * "o

i) Concatenation of Maclo}-parameters ' 
*'

ii) Generation 
"f 

U"W;i;;it' *q#- 
(12 Marks)

W eroaure-s)-su 
^

Exp1ainRecursfficentParing.wedescentparseforREAD.,u...|#!*",u,)

write note q;ry
A d 

^ --tl^-I l;Q# ftTo-lt1' -^ ; (06 Marks)
B&qpilbr- ComPilers

n*S9 Eiven finite autonitio& ch6ck if the followinffigs are recognized or not'

D %bca 1L "" 
h' ti1"'-' bca qi1,:; 

o h_ .* ''
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ii)
i) Lexi

(10 Marks)

(10 Marks)


